The Louvre

- -:'- 3 yv "’ :

R .‘.f;" "'g

P
cl e

o s e

ShadeTec Lite Instruction Manual
Free-Standing (2X2/2X3/2X4/3X4M)



‘www.louvrelounge.co.nz |




ltem Qty ltem Qty ltem Qty
1B-01 4 1B-11 4 1B-12 4
1B-13 4 1B-14 1 1B-15 1
1/3
1B-20 | 48+ 1B-21 16+ 1B-22 = 24+
1B-23 | 14+ 1B-24 1 1B-48 | 24+
1B-49 23+ 1B-50 1 1B-51 96+
1B-64 1 1B-67 8
1B-02 1 1B-03 1 1B-04 2
Carton | 1B.05 = 4 1B-08 2 1B-09 2
2/3
1B-29 2
Carton
3/3 1B-06 16
2%2-1

' ~www.louvrelounge.co.nz |




ltem Drawings Qty
1B-01 : = 4
1B-02 1
1B-03 1
1B-04 2
1B-05 4
1B-06 16
1B-08 2
1B-09 2
1B-29 2

2%2-2

‘www.louvrelounge.co.nz |



ltem Drawings Qty

1B-23 14+
M4.2*19

1B-24 \ 1
1B-48 16+
1B-49 15+
1B-50 1
1B-51 64+
1B-64 B 1
1B-67 8

M4.2*50

ltem Drawings Qty
1B-11 4
1B-12 4
1B-13 4
1B-14 1
1B-15 =/ 1
1B-16 E‘i 1
1B-18 1
1B-19 8
1B-20 32+
1B-21 16+
M10*80
1B-22 24+
M5.5*50

2*2-3

‘www.louvrelounge.co.nz |




C

S N ]
¢ . i __C
A A mer——
. Ty 0 ey , N
B0 u :
\ b 4
(o) )
i © o © © A c-
D
P ey
e
-
, @
A\  —
> L
; =
>
e
@]
&)
% W
3 3 2 N
o I~ & o @\
— — B\ T *
< y
@\
Q
o
~N
g/a
//
« mUu o O O O
! A o SEETY _brzi o d !

i
O W O -
!



ltem Qty ltem Qty ltem Qty
1B-01 4 1B-11 4 1B-12 4
1B-13 4 1B-14 1 1B-15 1
1/3
1B-20 48+ 1B-21 16+ 1B-22 24+
1B-23 14+ 1B-24 1 1B-48 24+
1B-49 23+ 1B-50 1 1B-51 06+
1B-64 1 1B-67 10+
1B-02 1 1B-03 1 1B-04 2
Carton | 1B_05 4 1B-08 2 1B-09 2
2/3
1B-29 2
Carton
3/3 1B-06 24
2%3-1

' ~www.louvrelounge.co.nz |




ltem Drawings Qty
1B-01 : = 4
1B-02 1
1B-03 1
1B-04 2
1B-05 4
1B-06 24
1B-08 2
1B-09 2
1B-29 2

2%3-2

‘www.louvrelounge.co.nz |



ltem Drawings Qty
1B-23 14+
M4.2*19

1B-24 \ 1
1B-48 24+
1B-49 23+
1B-50 1
1B-51 96+
1B-64 B 1
1B-67 10+

M4.2*50

ltem Drawings Qty
1B-11 4
1B-12 4
1B-13 4
1B-14 1
1B-15 =/ 1
1B-16 E‘i 1
1B-18 1
1B-19 8
1B-20 48+
1B-21 16+
M10*80
1B-22 24+
M5.5*50

2*3-3

‘www.louvrelounge.co.nz |




1980

120 _ 1740 _ 120
‘ DB | I T | O O ﬂ ‘ ‘
3 e o QCD AN |+
OQ_Q_@O \-D [s.] Uj I
NG
P
~
<t © OO (N ! <t © © <
/
9(90
W
(0@
' | @\@/O"
S 7 (00l 1V
b } F ) IC\I —
: o 0] 0 0 :
i 1980 J

2*3-4

- www.louvrelounge.co.nz |



2%X4m

ltem Qty ltem Qty ltem Qty
1B-01 4 1B-11 4 1B-12 4
1B-13 4 1B-14 1 1B-15 1
Carton 1B-16 1 1B-18 : 1B-19 3
1/4
1B-20 06+ 1B-21 16+ 1B-22 24+
1B-23 16+ 1B-24 1 1B-48 33+
1B-49 32+ 1B-50 1 1B-51 132+
1B-64 1 1B-67 14+
1B-02 1 1B-03 1 1B-04 2
Carton | 1B_05 4 1B-08 2 1B-09 2
2/4
1B-29 2
Carton
3/4 1B-06 12
Carton
4/4 1B-06 21
2%4-1

' ~www.louvrelounge.co.nz |




ltem Drawings Qty
1B-01 : = 4
1B-02 1
1B-03 1
1B-04 2
1B-05 4
1B-06 33
1B-08 2
1B-09 2
1B-29 2

2*4-2

‘www.louvrelounge.co.nz |



ltem Drawings Qty
18-23 M4.2*19 1o+
1B-24 \ 1
1B-48 33+
1B-49 32+
1B-50 1
1B-51 132+
1B-64 % 1
1B-67 14+

M4.2*50

ltem Drawings Qty
1B-11 4
1B-12 4
1B-13 4
1B-14 1
1B-15 =/ 1
B16 L] 1
1B-18 1
1B-19 8
1B-20 66+
=)
1B-21 | & 16+
‘M10*80
1B-22 24+
M5.5*50

2*4-3

~ www.louvrelounge.co.nz |




1980

1740

2*4-4

- www.louvrelounge.co.nz |

. ; -
‘ SE— v '
3 e o QCD AN
Q_.Q_@Oj D (o] Uj I
NG
.
~|
< OO ™M ! r O© N©
/
9(90
W
| @\@/0"
) - 0, . 0l 1
¥ } F tc>%u
' [ F T OJ kO b | UJ '
i 1980 |




ltem Qty ltem Qty ltem Qty
1B-01 4 1B-11 4 1B-12 4
1B-13 4 1B-14 1 1B-15 1
Carton 1B-16 1 1B-18 : 1B-19 3
1/4
1B-20 06+ 1B-21 16+ 1B-22 24+
1B-23 18+ 1B-24 1 1B-48 33+
1B-49 32+ 1B-50 1 1B-51 132+
1B-64 1 1B-67 14+
1B-02 1 1B-03 1 1B-04 2
Carton | 1B_05 4 1B-08 2 1B-09 2
2/4
1B-29 2
Carton
3/4 1B-06 12
Carton
4/4 1B-06 21
3*4-1

' ~www.louvrelounge.co.nz |




ltem Drawings Qty
1B-01 : = 4
1B-02 1
1B-03 1
1B-04 2
1B-05 4
1B-06 33
1B-08 2
1B-09 2
1B-29 2

3%4-2

‘www.louvrelounge.co.nz |



ltem Drawings Qty

1B-23 18+
M4.2*19

1B-24 \ 1
1B-48 33+
1B-49 32+
1B-50 1
1B-51 132+
1B-64 % 1
1B-67 14+

M4.2*50

ltem Drawings Qty
1B-11 4
1B-12 4
1B-13 4
1B-14 1
1B-15 =/ 1
B16 L] 1
1B-18 1
1B-19 8
1B-20 66+
=)
1B-21 | & 16+
‘M10*80
1B-22 24+
M5.5*50

3%4-3

~ www.louvrelounge.co.nz |




2904

2664

3*4-4

- www.louvrelounge.co.nz |

. ; -
‘ SE— v '
3 e o QCD AN
Q_.Q_@Oj D (o] Uj I
NG
.
~|
< OO ™M ! r O© N©
Q
904
W
| @\@/0"
) - 0, . 0l 1
b } F tc>%v
' [ F T OJ kO b | UJ '
B 2904 N




1B-01 —— [ 4

1B-13 4

1 B-2 2 24
M5.5*50

- www.louvrelounge.co.nz| 1



1B-04

X2 1B-18 o 1

- www.louvrelounge.co.nz | 2



‘www.louvrelounge.co.nz | 3




IMPORTANT:
You must ensure the louvre

system Is square and the
diagonal lengths are the
same before screwing the
base plastes to the ground
using the provided
bolts/screws.

1B-21 E
\=/

16

www.louvrelounge.co.nz | 4




——

=\
)
I\I s \ \
=\

1\
II|

|

\ . |||

X yi /I all
s B ~ ||I | ||:_'.l I|II 'f:_ \
[ 1)
I ! llll'l Il" IHI" jT \\\ \.\\

'II '( 'L—_“H Hl\l ff_i’ijiix‘\\'\

B\

III ___ll\ I||-_:::—' ___.--\A_—‘ \
| '_:;j\ Iﬁ'\ \'?Ti:i’fLif ;;{'\\:\ \

T

|

Ill | Vo e =
o H.H \'ﬁ \?_Ef::_if—f N\
1\ \ \\
\
A

- www.louvrelounge.co.nz| 5




1B-05 | 18-29 1B-05

1B-05

1B-29

- www.louvrelounge.co.nz| 6



,-;3-/
o
L
o
e
e
e
-:‘/
o
"
e
-
P -
o
=
e
e

=2

1B-05

Warning:

Before installation, tear off the
protective film of the tape on
the back side of Gutter.

)
\\
1 A\
| ___\\ \\
I ————_::’:T\ \
\ \ \
I |\ M\
U ==\
{ |I‘||I_ \\ .\l‘ .\‘ul
\ \ \ K
| \\ )
H'\ | \\ A
Vo '|| -
'|I||I '|I||I llll
L)

3screws/2m side

4screws/3m side
5screws/4m side

1B-05

/u 2

1B-23

Ly X

www.louvrelounge.co.nz | 7



‘www.louvrelounge.co.nz | 8




1B-48

1B-51

1B-06

1B-48

- www.louvrelounge.co.nz| 9



1B-64 1
1B-49 X
1B-50 1
1B-51 X

- www.louvrelounge.co.nz |10



50

1B-

1B-06

When installing louvres, first
separate the two rubber

gaskets and slide them to both

ends of the circular shatft.
Once the louvres have been

-
O
e
- ©
e —
o 0 O
S 9o 2
re.l
o L
C = 3
ten
c L
n g 9
ueh
pgt
S o
d,ﬂ.ut
@)
>
)
2 © 2
S o &

step

1B-06

1
il
N
S
O
©
®
=7
=
=
L=,
O
p—
>
=
A=,




1B-67

N
b
N
-
o
©
D
o
e
-
L=,
QL
.
>
=
IS




N
1
AN 9 -
N
==
-
o
‘2l S
D
) g
N o=
-’
O
e———
@) p= m
< Q 2
an) A >
) — o
——
Ws
\
/,%
___ \ ___ _.,_ ___
===
0

: a )
BT
% C
2E§
c 2 C
aOlg
23 E

G




1B-14
1B-16

1B-16 -
- www.louvrelounge.co.nz |14




1B-24

To
i
N
S
e
Q
®
=2
-
=
L
o
s
>
=
o




1B-15] -

©©
i
N
=
o
O
(¢ }]
=
s
O
QD
-
-
=
=

W

=3
= - o
O o >
m O ©
s 8 -
(-
3 ® o .
e L2 2 o0
< SO0 _ Dy
gWr_I/U.mmr
- C =
cc 93528228 )
oW n & 35 > J
WnaSO.mnn
- O = ® O




